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MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

¢ 98t T3 JHt mifaas

1.9 fest ot aisde Saz + by + c =02 QU
feg T8 w3 Jdd Afg3t feg ab M3 c B WS

de:- 2z + 3y = 9.35


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VNkiiEIlF2hq

° Watch Video Solution

2.9 i3t et mlede Gax + by + c = 02 QY
feg Tau € M3 I3a AfE3t feg ab M3 c @ HS

sré‘:-x—%—lozo

° Watch Video Solution

3.J5 fdst gt miage ax + by + c =02 QU
feg Ta € M3 g3a AfE3t feg ab M3 c © HS

de--—2z +3y =6

| e |


https://dl.doubtnut.com/l/_VNkiiEIlF2hq
https://dl.doubtnut.com/l/_E8sl8l4ipTiM
https://dl.doubtnut.com/l/_TT2ptRyLtjms

& Watch Video Solution I

4. I35 13t dft Mg S az +by+c=07¢
gy feg A8 »3 g AfgSt feg ab 3 c B WS
derz = 3y

° Watch Video Solution

5.96 et vt aidae Saz + by + c = 02 gy
feg Tau € w3 I3a Afa3t feg ab M3 c © HS

de:-2z = — by

l ° Watch Video Solution


https://dl.doubtnut.com/l/_TT2ptRyLtjms
https://dl.doubtnut.com/l/_XWbu3z0cYvRB
https://dl.doubtnut.com/l/_1JW01X5sdFZ4

6.J5 fest dt midge ax + by + c =02 QU
feg Tau€ m3 I3a AfE3t feg ab M3 c © U3

da:-3z +2=0

° Watch Video Solution

7.3 fESt ot g Sax + by + c =02 QU
feg Tau € M3 g3a Afa3t feg ab M3 c © U3

dery —2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_1JW01X5sdFZ4
https://dl.doubtnut.com/l/_8s8yTP13vFAQ
https://dl.doubtnut.com/l/_RbCaEtK8s8BG

8.J5 fdst dt midge ax + by + c =02 QU
feg Tau € M3 g3a AfE3t feg ab M3 c @ HS
de:-h = 2z

° Watch Video Solution

9. J& f&3 feamyt fed |, fagz feasy AT I 3

faG?y =3z + 5%

A. 89 fegys I8 J1

B. fHaE © I8 Ia|


https://dl.doubtnut.com/l/_RbCaEtK8s8BG
https://dl.doubtnut.com/l/_pQTNhzMc07hq
https://dl.doubtnut.com/l/_uged0PgscHge

C. M&3 gU et IS Ta|

Answer:

° Watch Video Solution

10.J5 fidSt mildac e 99 ds fdd:- 22 +y = 7

° Watch Video Solution

1.Ja fSSt mildac e 99 ds f&d- e + y = 9


https://dl.doubtnut.com/l/_uged0PgscHge
https://dl.doubtnut.com/l/_RE8IU0z7p7g2
https://dl.doubtnut.com/l/_qVzzwKhVIu7t

° Watch Video Solution

12. 35 oSt Adlage @ 99 I8 f88:- ¢ = 4y

° Watch Video Solution

13. @1 fa dot f£3 I& fed faoz' mvlaas
r — 2y = 4% I I M3 fagz adt 3:(0,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_qVzzwKhVIu7t
https://dl.doubtnut.com/l/_Rao3wwUjOT5V
https://dl.doubtnut.com/l/_fIPW9RrcIOg3

14. T8 fa I&t &3 Ist féd fagzr muitages
T — 2y = 42 IS I m3 fagz &dt 3:(2,0)

° Watch Video Solution

15. 1 fa dot &3 I&t féd faozr mvlaas
r — 2y = 42 I8 I M3 fagz adf 3:(4,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_OK6q426Cip9a
https://dl.doubtnut.com/l/_9HFX7sFuTMf5

16. ©1 fa dat f&3 Ist &g faoz mvlaas
a:—2y:4@ﬁ'83’1‘|§ﬂ_>183"m°fa:(/2,4/2)

° Watch Video Solution

17. €1 fa d&t &3 Is féd faoz mvlaas
r — 2y = 42 IS I M3 fagzr adf 3:(1,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_cAtiHiuVGA2q
https://dl.doubtnut.com/l/_5aixOgwbZCrY

18. k € H8 ©H A< fd x = 2, y = 1 AHlade

2¢ + 3y = ko fEa Is I=|

o Watch Video Solution

19. € 9% @M & &3t It mHtags T My

4 +y =4

o Watch Video Solution



https://dl.doubtnut.com/l/_Tee3Vw1aQJ6V
https://dl.doubtnut.com/l/_USdwN15v1mGm

20. € I8 T8t J& o3t 9dt aHlagds T sy
8- z—y = 2

o Watch Video Solution

21. € I8 T I& &3t It aHtags T My
f49:-y = 32

o Watch Video Solution



https://dl.doubtnut.com/l/_S98guzY4d3lw
https://dl.doubtnut.com/l/_qZHZ439BzHyS

22. ¢ I% @ I &3t It AHtags T may

ff9:-3 =2z +vy

° Watch Video Solution

23, fig(2,04) fed I d A T8 € Juel &
Alage fsdl fen 3gt & Jg fdsht Juret 3
Ao g6 M3 fa6?

° Watch Video Solution



https://dl.doubtnut.com/l/_B5lw45EKoCh9
https://dl.doubtnut.com/l/_2OdVAXZ61Z5t

24.7 fg (3,4) AflddE 3y = ax + 72 &Y 3

AfE3 3,37 a T HS U3T A4

o Watch Video Solution

25. f8d &arg &g 2art & fagrent ds fafimr 3,
yfa® fa@Hteg = fagfenr 38 J 3 BAE gmiE
&t gt &t y3t fadteg & fagrfen 53 31 7 3m
i3t aret gt x fateg - »3 9 fagfen y 3
Je 31 forer ot AHiage 88 w3 farer midy €t
fg|

| & |


https://dl.doubtnut.com/l/_Qiugh1f4UOww
https://dl.doubtnut.com/l/_leGWypM3jILB

| ¥ Watch Video Solution |

26. IS 188 MY €9 gdx MRy € Bet i3 I

feamyt fed At mftage Tt S aa:- fd3d 46 2
=t



https://dl.doubtnut.com/l/_leGWypM3jILB
https://dl.doubtnut.com/l/_KFVq7LA7qnZV

B.x +y =20

Cy=2zc

D.2+4+ 3y =Tz
Answer:

o Watch Video Solution

27. 33 189 mRYT (€9 gdd vy € Bet i3 are

feamyt fed Adt mtade ©t 9= dd:- fd3g 4.7 @


https://dl.doubtnut.com/l/_KFVq7LA7qnZV
https://dl.doubtnut.com/l/_dVpi7IXxgaA1

v
v
fg3g 4.7
Ay=x+ 2
B.y=x — 2

Cy= —x+ 2


https://dl.doubtnut.com/l/_dVpi7IXxgaA1

D.z 42y =26

Answer:

o Watch Video Solution

28. g A & &1 AN Enff fefenrggst
it »3 ef3nr & s gas Wias femash
d Hee sgt yas H3dt 9a3 €3 feg 100 g: &
Wares fd3n ffa odt mftage foa o feas
mafan & H3He daet 92| (3HT Bus & Wae's
T M3 y I Ha Aae IN)fer aHidas T vy i)

| e |


https://dl.doubtnut.com/l/_dVpi7IXxgaA1
https://dl.doubtnut.com/l/_mnxbweynaSyZ

| L ® Watch Video Solution

29, MHJIa" M3 353" ddt BH fed IUH'™S @de

dic feg Hfim Aier 3 A< fa 3793 Egdt 2nf feg
STUHTS ABHMA feg Hiim Aier 91 e agadie

& ABHIA feg gese st £ oyt milage {3t
9
5
2dadie & y-gar Ha o Gyg 13 are ot midas

aTaﬁé;-F:( )C+3zﬁm‘lwme;sx-gww@

o ey 49

o Watch Video Solution



https://dl.doubtnut.com/l/_mnxbweynaSyZ
https://dl.doubtnut.com/l/_cceRW6tYS5Cp

30. MHJIaT M3 d&3T 2ddl e fed 3N 2 dc

die feg Hfiim A7eT dA¢ fa 3793 Egdt eFf feg
3SUHTS RBHMMA feg i wier J1 8 Srdadie
& ABHIA feg gese st i ot milage 13t
gt :-F = (%)C+32ﬁ3rum?s 30°C d, 3

gdadle feg faat 3SUHTS dear?

o Watch Video Solution

31. MHJlaT M3 363 Tddt e feg IUH'S @dc

die feg Hfum AeT JA¢ fd 3793 Eddt eFf feg


https://dl.doubtnut.com/l/_ncB9MvOx0T4L
https://dl.doubtnut.com/l/_UkEukV1Yy1mG

3IYNTS ABHMA feg i mier J1 B8 agadie
S ABHIHA feg gese et f£d gyt mdiage fe3t

T 3 F — (%)C+32ﬁ3mwa 05° F 3 5

ABHMA feg fast 3STUH™S d=dm?

o Watch Video Solution

32. MHJIaT M3 363" 2ddl eF feg IUH'S 2/de

die feg Hfim AieT dA¢ fa 3793 Eadt eFf feg
3YNTS ABHMA feg i 7ieT 31 e @ gadie
S ABHIHA feg gese et f£d gyt mHiage 13t

aret &:-F = (%)C+32ﬁ3ﬂ~m’6 0°C 9 3


https://dl.doubtnut.com/l/_UkEukV1Yy1mG
https://dl.doubtnut.com/l/_CyGs4eG8xgtA

adadie feg fdas IUH™S Jd2ar?m3 7 IUH'S
0° F' 9, 31 ABHMA feg fds' 3UH™s dear?

O Watch Video Solution

33. MHJIaT M3 363" ddt BH fed YW @de

dic feg Ui Aier 3 A< fa 3793 Egdt 2nf feg
STUHTS ABHMA feg i Aier 91 e agadie
& ABHIA feg gese st £ oyt milage {3t

et 3;-Fz(§)0+32 #f wiv @ &
SUHS  H dadic M3 ABHAMA 86 & el

HRMT3HE AHTS 92 7 TF, 3T 8RS Y37 dJ|

[ 1


https://dl.doubtnut.com/l/_CyGs4eG8xgtA
https://dl.doubtnut.com/l/_R6nzWOoIs5Bs

I 0 Watch Video Solution

34. g g8 e® Aflage e gu feg y =3 &
AHTESt fague ad|

o Watch Video Solution

35.2 98 T8 HAHldde € gu fed y = 3 & AnTfest
fsgus ad|

o Watch Video Solution



https://dl.doubtnut.com/l/_R6nzWOoIs5Bs
https://dl.doubtnut.com/l/_VGJBA8oAcnAl
https://dl.doubtnut.com/l/_su51a2RHbuaN
https://dl.doubtnut.com/l/_tXey4YFc9Wos

36. ffg g5 e® mflages @ gufeg 22 + 9 = 0
€ AHTTESt fegue 33|

o Watch Video Solution

37.¢ OB R AMidae e gufeg 22 + 9 = 0 &
TSt fagues ad|

o Watch Video Solution



https://dl.doubtnut.com/l/_tXey4YFc9Wos
https://dl.doubtnut.com/l/_ab7jbvZC7mui
https://dl.doubtnut.com/l/_cpvcZ7DjdqHU

1.9 fest ot aisde Saz + by + c =02 QU
feg T8 W3 Jdd Afg3t feg abp M3 c B WS

de:- 22 + 3y = 4.37

o Watch Video Solution

2.J5 et aHt Aisde Gax + by + c = 02 QY
feg T8 W3 Jdd Afg3t feg abp M3 c B WS
de-x — 4 = /3y

o Watch Video Solution



https://dl.doubtnut.com/l/_cpvcZ7DjdqHU
https://dl.doubtnut.com/l/_dqYpzRbT5Q9g

3.J5 fest dt midge ax + by + c =02 qu
feg Tan €@ M3 Jdd A3t feg ab M3 c © US

de:-4 = br — 3y

o Watch Video Solution

4. I35 13t dft g S ax +by+c=07¢
gu feg Tagn™@ »3 gdd AfgSt feg a b M3 c B WS
de-2z = vy

o Watch Video Solution



https://dl.doubtnut.com/l/_sFNna2zacBc9
https://dl.doubtnut.com/l/_FDyzE4jBKTZO
https://dl.doubtnut.com/l/_94hvDwnm6wKi

5.96 {59 & 2 9% €8 AHlade € gu €9 €arg

X =-=5

o Watch Video Solution

6.J5 89 & € 9% @) AHidae € gu fed €an8

-y =2

o Watch Video Solution



https://dl.doubtnut.com/l/_94hvDwnm6wKi
https://dl.doubtnut.com/l/_CfwtPYOSrQRN

7.95 184 & € 981 €8 AHlade € gu fed €aA8

-2x =3

o Watch Video Solution

8.d5 &89 & € 9% @) AHidae € gu fed €an8

-5y=2

o Watch Video Solution

9. AHIddS = + 2y = 6 T I7d 244 IS Y3T d3|



https://dl.doubtnut.com/l/_oUrR71bqjPZd
https://dl.doubtnut.com/l/_jOUfFOukhqZH
https://dl.doubtnut.com/l/_0aP1Xer8sHXx

o Watch Video Solution

10. 95 5t Aidae © € 08 &34z + 3y = 12

o Watch Video Solution

1.9 fsft mfldae €@ € I8 83:- 22 + 5y = 0

o Watch Video Solution

12.95 fedt mifeges @ € a8 83:-3y + 4 = 0



https://dl.doubtnut.com/l/_0aP1Xer8sHXx
https://dl.doubtnut.com/l/_Qw70I3T8qlBp
https://dl.doubtnut.com/l/_fR3JyBZJTmxG
https://dl.doubtnut.com/l/_ysg6woageGoo

o Watch Video Solution

13. 7 fig (1, 2) f€37 J2 , 3T ot 3HT @A Iy it
AHidge € Ade d fan feg Ga fig Afgs J 2 fen
3 & fa& mitelde I Aae I ?

o Watch Video Solution

4.z 4y = 7T 03y f4g|

o Watch Video Solution



https://dl.doubtnut.com/l/_ysg6woageGoo
https://dl.doubtnut.com/l/_gIEnjpV1yDbh
https://dl.doubtnut.com/l/_ojjeFwXZf441
https://dl.doubtnut.com/l/_PnH90rdzyKnR

15. 1939 4.5 (1) 1€< €3 T TId MY & fs
&8 @9 w3 It €3 god mRy @ feamyt @
WY {ed fe3tT areingt mHtdaet € 9< 9a:

Az+y=0


https://dl.doubtnut.com/l/_PnH90rdzyKnR

Cy==z
D.y=2x +1
Answer:

o Watch Video Solution

16. f{d33 4.5 (2) féd €3 e god ey & famss
&% o8 M3 I&t fif3 Ida mMay 2 feasut 2


https://dl.doubtnut.com/l/_PnH90rdzyKnR
https://dl.doubtnut.com/l/_OCCdGb3MoSJE

eyt f2d a3t ard® mflagst &t 9< d4:

Ax+y=

B.y = 2z

Cy=2r+4


https://dl.doubtnut.com/l/_OCCdGb3MoSJE

Dy=x —4

Answer:

o Watch Video Solution

17. 1933 4.5 (3) €9 €3 I1E gda MBY & fos
&8 &8 »3 Jat I3 god mRy @ feamyt @


https://dl.doubtnut.com/l/_OCCdGb3MoSJE
https://dl.doubtnut.com/l/_65Ha4KX3Rl3a

MRyt fed a3t argh mHlags €t 9< da:

Az+y=0

B.y = 2z


https://dl.doubtnut.com/l/_65Ha4KX3Rl3a

Cy=2z+1

D.y=2x — 4

Answer:

° Watch Video Solution

18. AHIAIIE 2x+1 =x-3 & TS a3 M3 TS 3 (i)

HIEMT 34T '3 (i) SIS AH3S '3 fogus dd |

o Watch Video Solution



https://dl.doubtnut.com/l/_65Ha4KX3Rl3a
https://dl.doubtnut.com/l/_aEPZ94hPkbcn

